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=XNEA

33 A =Xs3 =4
el =X 33 =4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 10,000 5,000 5,000
OdHAME H 2 S 10,000
401 AlEHIY S CHYI 60,000 60,000
01 AlZH| 60,000 60,000
OZAEst RAl2e 60,000
405 AtatE = 5,000 3,000 2,000
01 TR =S FISHI 5,000 3,000 2,000
oz 29 5,000
TSI &H 60,000 45,000 15,000
201 er23 | 60,000 45,000 15,000
01 At2t2ltl 60,000 45,000 15,000
OX=I A 24 60,000
AlRI0] HOIGHE HRIMRI(HEAL) 300,000 100,000 200,000
206 M=l 50,000 40,000 10,000
01 M=4l 50,000 40,000 10,000
OAlIgI0l &0ots & JHI| 50,000
401 Al HIZ R 0HbI 250,000 60,000 190,000
01 AlZ8| 250,000 60,000 190,000
OAlgI0l E0icts E&IHII 250,000
SNz SXIMETD &8 4,561,000 12,054,000 AT,493,000
Jl 1,300,000
=S 1,300,000
Al 1,961,000
HUSEHAZA =R 22 61,000 137,000 AT76,000
307 212+01& 61,000 137,000 AT76,000
02 LB HANHEE 16,000 47,000 A31,000
OHUIRHATAl ZXSAAS] MEHT AL
21 At 16,000
03 QRICHH B R ey 25 45,000 9,000 45,000
OHUIRHACAl XAARS 2 45,000
A= 89 ZHaC| M (TAI=)(HEAY) 1,500,000 2,955,000 1,455,000
= 750,000
Al 750,000
401 Al HIZ R 0HbI 1,500,000 2,955,000 1,455,000
== 750,000
Al 750,000
01 Al&HI 1,498,000 2,951,000 A1,453,000
OZAE S g2l A(ZAIE) 1,498,000
< 748,000
Al 750,000
03 Al 2 HHI 2,000 4,000 /2,000
O=AE So Zdael A(ZAE) 2,000
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=R EAlE sAdE0 =4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 2,000
SNz SO T4zl A (Ba=)(HEAY) 300,000 300,000 0
== 150,000
Al 150,000
401 Al HIZL S 0HYI 300,000 300,000 0
< 150,000
Al 150,000
01 Al&H| 299,000 299,000 0
O=AE So Zdzel Ag(gas) 299,000
= 149,500
Al 149,500
03 AIESTHYI 1,000 1,000 0
O= Az S2 Zdael Ag(Zas) 1,000
s 500
Al 500
018 2AE=K AR 01 500,000 0 500,000
401 Al HIZL 201 500,000 500,000
01 Al&H| 500,000 500,000
OFII0IEY 2F=X Atz 01 500,000
A= 89 Z4aC| A=) (HEALY) 700,000 100,000 600,000
= 400,000
Al 300,000
401 AIZHIX R0 700,000 100,000 600,000
=S 400,000
Al 300,000
01 AlZ8| 700,000 100,000 600,000
O A= 82 xgzel AGOtz2=) 700,000
< 400,000
Al 300,000
EANEE &4 2cAY 1,500,000 0 1,500,000
Jl 1,300,000
Al 200,000
401 AIEHIX SO 1,500,000 0 1,500,000
) 1,300,000
Al 200,000
01 AlZ2H| 1,498,500 0 1,498,500
OBAME= T4 ZelArg 1,498,500
Il 1,298,500
Al 200,000
03 Al 20HHI 1,500 0 1,500
OBAXNE=E &4 ZclArg 1,500
Il 1,500
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e A=A g2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=g 5,798,360 11,127,798 A\5,329,438
= 76,565
Jl 1,000,000
= 1,262,999
Al 3,458,7%6
HFAl SRY 29 83,400 83,680 A280
201 Zet=3h] 77,400 77,680 280
01 AtR2t2|HI 57,400 57,680 2280
OZet=EH| 21,000
O=RAUR= 6,000
ofelFHIE| 2,400
ou=Hl 3,000
OYEY 28 JHl Xs 25,000
02 S3=gHl 20,000 20,000 0
osE2= & HA 20,000
405 AHAHE S 6,000 6,000
01 AL =S F=HI 6,000 6,000
O==SXl2c| HHl 6,000
52 2el 30,000 25,000 5,000
401 Al HIZ S 0HbI 30,000 25,000 5,000
01 AlZH| 30,000 25,000 5,000
Oll= S =A== 30,000
=aE 2t el 18,330 17,640 690
== 5,49
Al 12,831
101 eI24d| 17,330 16,640 690
[ 5,19
Al 12,131
M ORIMZZ2NSE S 17,330 16,640 690
O=eH2elel 17,330
= 5,19
Al 12,131
201 er23y| 1,000 1,000 0
= 300
Al 700
01 At 2|l 1,000 1,000 0
O=MeH2e| el 1,000
== 300
Al 700
HEZ Zda L AIES £EX 331,000 331,000
201 er23 | 3,000 3,000
01 At2teltl 3,000 3,000
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33 Al =Xs3 =4
e A=A g2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZYME HHE7 Y 3,000
206 M=l 178,000 178,000
01 MZH| 178,000 178,000
OdIRAANEE 2B+ & 22K 28,000
Ozx3st® 22 & X 80,000
OZ dus gl 30,000
OZE, &4E S 20,000
OHE(LSE) 20,000
401 AIEHIX R0HH 150,000 150,000
01 A28l 150,000 150,000
O==7 22N S 180,000
CAlEs Ea2ee 24 103,130 99,478 3,652
= 51,565
Al 51,565
201 el 1,000 12,478 A11,478
= 500
Al 500
01 At2teltl 1,000 12,478 A11,478
OF A= 3222 2 1,000
= 500
Al 500
401 Al HIZ R 0HHI 102,130 87,000 15,130
= 51,065
Al 51,065
01 Al&HI 101,130 85,000 16,130
OFAlz 3222 2 101,130
= 50,565
Al 50,565
03 Al 2 HYI 1,000 2,000 21,000
O A= Faaele 29 1,000
= 500
Al 500
& HIOKEE x4 40,000 40,000 0
401 AIEHIZ SR OHYI 40,000 40,000
01 Al&HI 40,000 40,000
OSAX U dHiotetet & =4 40,000
SO dotd 29 37,000 33,000 4,000
201 er23| 30,000 26,000 4,000
02 S5=2g4l 30,000 26,000 4,000
(©ul=d:] 22,000
OAIEEHl |l 8,000
206 M=l 7,000 7,000 0
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 7,000 7,000 0
Ot 22 7,000
el &4 173,000 173,000
206 M=l 83,000 83,000
01 M=4l 83,000 83,000
Ostz S £2F 83,000
401 AIZ2BIXL S CHYI 90,000 90,000
01 Al&HI 90,000 90,000
Ok=3z WA % AFEX 50,000
O=2UF0H &2l ZdAY 40,000
SMate x4 25,000 25,000
201 er2&| 5,000 5,000
01 At2teltl 5,000 5,000
OSMatet &4 5,000
206 M=l 20,000 20,000
01 M=4l 20,000 20,000
OSMatexd 20,000
N =8 (HEAY) 650,000 6,000,000 /5,350,000
< 650,000
401 AIEHIX 20 650,000 6,000,000 /5,350,000
=S 650,000
01 Al&H| 650,000 5,995,400 A\b,345,400
oxNgda x4 650,000
= 650,000
A2 N2UH(S2E) OIMAS (MEAL) 2,500,000 2,000,000 500,000
401 AIEHIZL 20 2,500,000 2,000,000 500,000
01 Al&H| 2,495,000 2,000,000 495,000
OFEAZ XAUH(L2E) OIFA 2,495,000
03 A2 THYI 5,000 0 5,000
FaAE N2UH(2RY) OI™AIY 5,000
e JAWIIXA X 1,147,500 1,700,000 /552,500
Il 1,000,000
Al 147,500
201 et 3| 40,000 0 40,000
7l 20,000
Al 20,000
01 At2t2lt] 40,000 0 40,000
odga e FAWIIAX XA 40,000
Il 20,000
Al 20,000
206 M=l 55,000 0 55,000
Jl 27,500




2A:
X XH -
o e

=aak

=XNEA
TAl sX83 x4

So=Xxd2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 27,500
01 M=4l 55,000 0 55,000
odgaxne JAWIIAX XA 55,000
Il 27,500
Al 27,500
401 AlEHIZ SO 1,062,500 1,700,000 647,500
Jl 952,500
Al 100,000
01 Al&H| 1,050,000 1,700,000 A\650,000
4y JAWIIK NS 1,050,000
Jl 950,000
Al 100,000
03 AIESTHYI 2,500 0 2,500
Od=L e JAWIIA X 2,500
Il 2,500
ME2SME Z8(ZATNYIAIEHE AL)(BEA 600,000 600,000 0
2)
=S 600,000
401 AIZHIZ SO 600,000 600,000 0
= 600,000
01 Al&HI 597,500 600,000 22,500
Odz2atEH (RN AI=HE
) 597,500
S 597,500
03 Al 20HHI 2,500 0 2,500
HEESHIH 24 (ZAXNLSTAIELEH
AE) 2,500
= 2,500
I AHEE 2 50,000 0 50,000
= 25,000
= 7,500
Al 17,500
405 KHoHFSHI 50,000 0 50,000
= 25,000
= 7,500
Al 17,500
01 ML ESFSHI 50,000 0 50,000
I A EH 50,000
= 25,000
= 7,500
Al 17,500
NEAE 23el =AY 10,000 10,000
401 AIEHIX SO 10,000 10,000
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=XNEA

M TAl SX2Y E4
e A=A g2e (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 A=l 10,000 0 10,000
ONSAIE Ziel AL (Z00il4) 10,000
SEE =M 347,500 47,500 300,000
M Es=d 347,500 47,500 300,000
A3 AL 29 47,500 47,500 0
201 ZEet2& ] 5,000 5,000 0
01 AtR2telbl 5,000 5,000 0
Oal=d A 2E 5,000
206 M=4| 22,500 22,500
01 M=4l 22,500 22,500
OAl=g AL 24 22,500
401 AlEHIZ 01 20,000 20,000
01 AlZHI 20,000 20,000
OATHEAL & == 7 X2 20,000
iz & OoIE(B) 5 300,000 0 300,000
401 AIEHIZ SR HYI 300,000 300,000
01 A&l 300,000 300,000
OdE==ZA & AIAE JISHA 300,000
HY2HZHI(SXEAL) 46,040 491,168 AN445,128
[2ZHI(=sXIE& D) 46,040 67,188 N21,148
Jl2dHI(=XEan) 46,040 67,1838 N21,148
201 223 30,080 38,188 A8,108
01 AFS2t2ltl 28,580 36,6838 A8, 108
OgBt==H| 13,500
Oo=gHl 10,080
o=g=¢ 5,000
02 S3=4gl 1,500 1,500 0
ozE2= & HA 1,500
202 044l 12,960 22,100 A9,140
01 =LHO LI 12,960 22,100 A9, 140
OJl=g R0l 12,960
203 SR =4 3,000 6,900 A3,900
M FA2HLRFEI 3,000 3,600 AB600
ORAM2EER=2] 250,000 123 3,000




